C:h Checking Division Answers

Name:
Check each answer. Determineif theanswer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182+ 6=29r15 \
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1 % WIE
1) 296+8=98r2 2) 862+6=143r4 4
5.
6.
3 233:6=29r1 4 211+4=52r2 !
8.
9.
10.
5 530+8=6612 6) 737+4=368r1
7) 515+2=257r1 8) 543+9=60r5
9 156+9=17r3 10) 621+6=103r3
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Checking Division Answers Name:. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=3217 182+ 6=29r15 \
checked by multiplying the - 29 1 not
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2 correct
If the answer is the same as the + 7 + S
& dividend, it is correct. 263 179% / 3 not
1) 206:8=0812 98 2) 862+6=14314 143 4 ___hot
x 8 x 6 s correct
784 858
+ 2 + 4 6 not
786 862
7. correct
3 233+6=29r1 29 4) 211+4=52r2 52
x 6 x 4 8 not
174 208
175 210
10. correct
5 530:8=6612 66 6) 737+4=368r1 368
X 8 X 4
528 1472
+ 2 + 1
530 1473
7) 515+2=257r1 257 8) 543+9=60r5 60
X 2 x 9
514 540
+ 1 + 5
515 545
9 156+9=17r3 17 10) 621+6=103r3 103
x 9 X 6
153 618
+ 3 + 3
156 621
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